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Outline

« Triple CGEM geometry
o Gas simulation

« Field and avalanche simulation



Geometry & Tension
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Gas composition: Ar 70% Co2 30%
1,5 kV/cm between G1-G2 and G2-G3
50 kV/cm inside the GEMs

5,0 kV/cm between G3-anode




Ar-Co2 behaviour
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e Gas composition: Ar 70% Co2 30%

e 1,5 kV/cm between G1-G2 and G2-G3
e 50 kV/cm inside the GEMs

e 50 kV/cm between G3-anode



Longitudinal Diffusion ( pm/cm)

Drift Velocity (cm/ pus)

Ar-Co2 behaviour
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ANSYS simulation
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5 um copper / 50 um kapton / 5 ym copper
Inner hole = 55 pum

Pitch = 140 um

Distance between layers = 2 mm



Garfield simulation
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Garfield simulation
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Garfield simulation
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Garfield simulation

2000

=5 um
50 um

0.01
1950

0.005 1900

1850 !

25 um !
1800 70 um

-0.005

-0.01
1750

-0.015 1700

5 um copper / 50 um kapton / 5 ym copper
Inner hole =55 pm

Pitch = 140 uym

Distance between layers = 2 mm

-0.006 -0.004 -0.002 0 0.002 0.004 0.006
x [em]

10



Garfield simulation
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Avalanche simulation
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Avalanche simulation
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Z coordinate of
generated electrons
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x2 {z2>0.3}

Avalanche:
spatial distribution @ anode
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Pion:
spatial distribution @ anode

X2 {2250.3) x2 {z2>0.3}
‘ htemp htemp
N RMS _ 0.01688 (sLRMS__ 0.02467
100— 8
- 1
8- 121~
- 10— L
60— -
i 8
40— 6
B 4
20— C
N rIII|-|I-||III|III|III|III|III|III|HII
ol |.:D.-I1[—)g| | -DI|04| I I.Dllgp_l L1 é [ Igl[l)p_l I ID|04 | Oln .—L.DI[|)6 I %.12 014 0.16 018 0.2 022 024 0.26
X2 X2
B=00T B=10T

16






	Diapositiva 1
	Diapositiva 2
	Diapositiva 3
	Diapositiva 4
	Diapositiva 5
	Diapositiva 6
	Diapositiva 7
	Diapositiva 8
	Diapositiva 9
	Diapositiva 10
	Diapositiva 11
	Diapositiva 12
	Diapositiva 13
	Diapositiva 14
	Diapositiva 15
	Diapositiva 16
	Diapositiva 17

